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1. Determinant whether the given 4 points lie in a plane in R3. If so, find its area. If not, find its
volume.

A(1,1,1), B(1,-6,2),C(0,2,3), D(—3,2,6)

Answer: ABCD are coplanar(H£3H), and the area is N/A .
ABCD are NOT coplanar(H3H), and the volume is _ 4

Solution :

AB =[0,-7.1), AC = [-1,1,2], AD = [-4, 1, 5]

1]

So the points are not coplanar and the volume of the Parallelepiped (F1T75H#2) formed by
coterminous (FB#FiE) edges /@, /@, AD is 24.

The volume of a tetrahedron ([UE#E) ABC D formed by coterminous (FB5B32) edges AB : AC : AD

is
volume of the Parallelepiped 24
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2. Let I;, ¢ € R3. Show that = b x s perpendicular to both band ¢
Solution :

Section 4-1 problem 5. EREGENMEMZES T bx CHES  AEFNE TMasNEAZa
b mEFERH) E5EE |
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